1 22 (eunil@hep.korea.ac.kr)

ol

Of
B

ol
=0

T

B

20144 1€

o2 E

1

A =712

A=

lac]
=3

1/€exp (—z/§) B BF 2(r) 2

(L AAIZ 10 f(x)

w(r) = —€log(r)
P (1 — ) O|Z|2 Of2}T| O] 72+ [0,1] O A FL5}

= 22 0]

O

29 MeV /e 7} Lttt

Ct- OF
—

==

Fof| CH

0] 100% 2=
2F s
o O o

]Il
—
o .

oA
pt 2

C
=

Of Hch,

HO|Zt (v,) 7
Sk
< —_
2ol 20 Hds 2

o
7t 2sy

i s
—
AT

—_ -

A= F2(ph) 2t 3

left handed 2 A{ &

ot

S

—
=
o= ATo| FEof

 I}0|20] x|
g, 24003
| whc st

Ct
=
9



4. O] B F20] Y2[st0] UCtAL 7+
1S 0]of CHet Al=e|0]d RES
fit 5t0f Pt +FLS ot Aol 22}
HIHO| OJHIES 4-d3lOF St=71? 212 p
2RIt

1
—= =0.01

N
2 ak=3l= N2 10 O|Ch. O]of Tt RoOT TR
//

// muon decay simulation at the rest from of muon
//

// Eunil Won (Korea Univ.) eunil@hep.korea.ac.kr

//

const Int_t ngen = le4;
const Double_t tau_mu = 2.197019e-6; // muon mean life (s)

Double_t f1(Double_t *x, Double_t *par)
{

return par[0]*TMath: :Exp(-1.0*x[0]/par[1]);
¥

void cmdecay_kias()

{
TH1::SetDefaultSumw2() ;

//
// a uniform random number

//
gRandom->SetSeed () ;

Double_t eta, theta, tdcay, weight;

Int_t dummy;
//

// histograms
//

TCanvas* canvas = new TCanvas("canvas","eta",100,100,700,700);
canvas—>Divide(1,1);

hdcy = new TH1F("hdcy","decay time of muon",200,0.,6*tau_mu);
hdcy->SetFillColor(3);
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Figure 1: TI2Hd HES Gz}, W7k MS fit 23},

hdcy->SetMinimum(0.0) ;
hdcy->Sumw2() ;

//

// in muon rest frame

//

for (Int_t i=0;i<ngen;i++) {
tdcay = -1.0*tau_muxTMath: :Log(gRandom->Rndm (dummy)) ;
hdcy->Fill(tdcay) ;

}

hdcy->SetXTitle("time (s)");

hdcy->Draw() ;

TF1 *func = new TF1("func",f1,0.0,tau_mu,2);

func->SetParameters(ngen,tau_mu) ;
hdcy->Fit("func");
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//

// muon decays

//

//

// Eunil Won (Korea Univ.) eunil@hep.korea.ac.kr
//

const Int_t ngen = 100000;

Int_t dummy = 1;

const Double_t tau_mu = 2.197019e-6; // muon mean life (s)

const Double_t m_mu = 105.658367; // muon mass (MeV)

const Double_t m_el = 0.511; // electron mass (MeV)

const Double_t m_nu = 0.0; // neutrino (MeV)

const Double_t Gf =1.0; // set to 1 since we do not make absoulte measurement

const Double_t PI = TMath::Pi();

const Double_t psmax = m_mu/2.0;

const Double_t gamma = 3.0; // relativistic Lorentz factors
const Double_t beta = TMath::Sqrt(gamma*gamma-1.0)/gamma;

const Double_t plmax = gamma*(psmaxt+beta*psmax) ;

Double_t alam(Double_t a, Double_t b, Double_t c)

{
return a*a + b*b + ckc - 2.0*xaxb - 2.0%b*c - 2.0%cx*a;
b
//
// based on Collider Physics by Barger and Phillips, Chapter 11.
/7

void mdec(Double_t *mass, Double_t *w, Double_t *p_el, Double_t *p_nue, Double_t *p_num)

{

Double_t mc = mass[0];
Double_t ms = mass[1];
Double_t me = mass[2];
Double_t mg = mass[3];

//

// rest frame of muon
//
Double_t pmax2, plsq, pl, el, m23;



pmax2 = alam(mc*mc, ms*ms, (me+mg)*(me+mg))/(4.0*mc*mc);
plsq = pmax2*gRandom->Rndm(dummy) ;

pl = TMath::Sqrt(plsq);

el = TMath::Sqrt(plsq+ms*ms) ;

m23 = TMath::Sqrt(mc*mc + ms*ms - 2*mc*el);

//

// now work in 2-3 rest frame

//

Double_t pesq, pe, ee, costh, sinth, phi, ex, ey, ez, ge, gx, gy, g2;

pesq = alam(m23*m23, me*me, mg+*mg)/(4*m23*m23) ;
pe = TMath::Sqrt(pesq);

ee = (m23#m23 + me*me -mg+*mg)/(2*m23);

costh = 1.0 - 2.0*gRandom->Rndm(dummy) ;

sinth = TMath::Sqrt(1.0 - costh*costh);

phi = 2*PI*gRandom->Rndm(dummy) ;

ex = pexsinth*TMath::Sin(phi);
ey = pexsinth*TMath: :Cos(phi);

ez = pexcosth;

ge = m23 - ee;

gx = -ex;
gy = ~ey;
gz = -ez;

Double_t pcsq, ce, cz, se, sz;

pcsq = alam(m23+*m23, mc*mc, ms*ms)/(4.0*m23*m23) ;
ce = (mc*mc - ms*ms + m23*m23)/(2.0*m23) ;
cz = TMath: :Sqrt(pcsq);

se = ce - m23;

sz = cz;

//

// matrix element squared
//

Double_t msq;
msq = 64.0*GE*Gf*(cexee - czxez)*(se*xge-sz*gz);

*w = msq*pl*pmax2*pe/(64.0*PI*PI*PI*mc*el*m23) ;

//

// boost back to ¢ rest frame
//

Double_t g, bg, b;

g =ce/mc;

bg = -cz/mc;



b = bg/g;

ee = eexg + ez*bg;
ge = ge*g + gz*bg;
ez = eexb + ez/g;
gz = gexb + gz/g;
//

// randomize orientation in c-rest frame
//
Double_t ct, st, cp, sp, sx, sy;

ct = 1.0 - 2.0*gRandom->Rndm (dummy) ;
st TMath: :Sqrt(1-ct*ct);

phi = 2.0 * PI * gRandom->Rndm(dummy) ;
cp = TMath::Cos(phi);

sp = TMath::Sin(phi);

ez = ez*ct - ey*st;

gz = gz*ct — gy*st;

ey = (ez*st + ey)/ct;

gy = (gzxst + gy)/ct;

€X = eX*Cp - ey*sp;

gX = gX*Cp - gy*sp;

ey = (ex*sp + ey)/cp;

gy = (gx*sp + gy)/cp;

se = mc - ee - ge;

SX = -ex - gx;
8y = -ey - gy;
sz = -ez - gz;
p_el[0] = se;
p_ell1] = sx;
p_ell[2] = sy;
p_el[3] = sz;

p_num[0] = ee;
p_num[1] = ex;
p_num[2] = ey;
p_num[3] = ez;
p_nue[0] = ge;
p_nue[l] = gx;
p_nuel[2] = gy;
p_nue[3] = gz;

}

void boost(Double_t md, Double_t *p, Double_t *p_boost)
{

Double_t dx, dy, dz, ee, ex, ey, ez;

dx = pl0];

dy = pl1];



}

dz = pl[2];

ee = p_boost[0];
ex = p_boost[1];
ey = p_boost[2];
ez = p_boost[3];

Double_t bgl, gl, bg2, g2, bg3, g3, e, x, ¥, Z;

bgl = dx/md;

gl = TMath::Sqrt(1.0 + bglxbgl);
bg2 = dy/(md*gl);

g2 = TMath::Sqrt(1.0 + bg2xbg2);
bg3 = dz/(md*gl*g2) ;

g3 = TMath::Sqrt(1.0 + bg3*bg3);

glxg2xg3*ee + bglxg2*g3*xex + bg2*g3*xey + bg3*ez;
glxex + bglxkee;

g2xey + bglxbg2xex + glxbg2kee;

g3*ez + bg2xbg3*ey + bgl*g2xbg3*ex + bg3*gl2xglxee;

N < X 0
nn

ex = X;
ey = Vs
ez = z;

p_boost[0] = ee;

p_boost[1] = ex;
p_boost[2] = ey;
p_boost[3] = ez;

void gen_kias()

{

Double_t mass[4], w, p_el[4], p_nue[4], p_num[4];
mass[0] = m_mu; mass[1] = m_el; mass[2] = m_nu; mass[3] = m_nu;

TCanvas* c_c = new TCanvas("c_c","positron energy",100,100,600,300);
c_c->Divide(2,1);

h_ps = new THIF("h_ps","e+ p",100,0.,psmax+10.0);

h_pl = new TH1F("h_pl","e+ p",100,0.,plmax+10.0);

Double_t pmuon([3]; // x,y,z of muon momentum

pmuon[0] = 300.0; // muon momentum is 300 MeV/c in local x-axis
pmuon[1] = 0.0;

pmuon[2] = 0.0;

//
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// loop over events

//

for (Int_t i=0;i<ngen;i++)

{
mdec(mass, &w, p_el, p_nue, p_num);
h_ps->Fill(p_el[0] ,w);

//
// boost to lab frame
//

boost (m_mu,pmuon, p_el);
h_pl->Fill(p_el[0],w);

}

c_c->cd(1); h_ps->Draw();
h_ps->SetXTitle("Rest frame E (MeV)");
c_c—>cd(2); h_pl->Draw();
h_pl->SetXTitle("Lab frame E (MeV)");
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